FAHEEFE (OCaml JEE) (10)
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BERDKEFKREFE



N7y NE
[EnhoeD] aRdR

NY7Y NBIDEE

type BU% = BKF of 5IEDE | ...

SRV E & Tof 5IBDE] 28T 2,

(+ BFFRIZRTE *) (x BIEX *)

type jikoku_t = Gozen of int (x BV & D x)
| Gogo of int (x EEHU&D *)
| Noon (x 2L %)
| Midnight (x 7L %)

OCam| DM FIFAXFTIHRE LR TEFRSRL, |




N7 NBY

# Gozen (10) ;;

I~

- @ Jjikoku_t = Gozen 10
# Gogo (3) ;;

- @ Jjikoku_t = Gogo 3

# Noon ;;

- : Jjikoku_t = Noon

# Midnight ;;

- . jikoku_t = Midnight

BRFOBIEE, HITEINMTLKLKDEDICT B EME
WA B,



N TV MRIZR S B

/\‘U 7 MNBDEZEILSTHRICH match X&EFED
(x BB : 24 FEARTORZZIRY *)

(* let jikoku24

let jikoku24 jikoku

Gozen (n) ->
| Gogo (n) ->
| Noon ->
| Midnight ->

# jikoku24 (Gogo

- : int = 15

n

n + 12

12
0

(3))

)

b

: jikoku_t -> int *)
match jikoku with

BFEA D
jikoku_t BD
a2 AVEN
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17
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m KREFHEICED, (BREE) 7 24
s EEEDOZ EHB L, /\
® 3 T T
BOFEHOMIAVNDE 2 THDAK A
O):t% 2§J\7kt|]¥/3:o

oo
=

Het
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29KIE. LTFOWSThHTH D,
Empty ZZDAR, H 5L
Node (1, n, r) i, T ZTn XZDEHIDEDE.
1, rl3EEDFHE (297K),

(x 20KR%ZERTH %)
type tree_t = Empty
| Node of tree_t * int * tree_t

JZ bEREN2 SFTESBRLTV S,



2 R ARDB)

1
# Empty ;; !
- : tree_t = Empty ////ﬂ\\\\

# let t1 = Node (Empty, 3, Empty) ;; 7 9
val tl1 : tree_t =
Node (Empty, 3, Empty) //A\\
# let t2 = lNode (Empty, 7, t1) ;; 7o 3 o
val t2 : tree_t = - -
Node (Empty, 7, Node (Empty, 3, Empty)) //A\\
# let t3 = Node (Empty, 24, Empty) ;; 7o oo
=X

val t3 : tree_t =
Node (Empty, 24, Empty)
# let t4 = Node (t2, 17, t3) ;;
val t4 : tree_t =
Node (Node (Empty, 7, Node (Empty, 3, Empty)),
17,
Node (Empty, 24, Empty))
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s EAMICYZ FEQET ZEREL AL,
s FUTL— hOFA 2 DRAICED B, J
R

tree_t BOKREZITR 75, ZOHDEHDEET
%R EEE sum_tree ZEEH L, J
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(x 29AKR%ZERTHE x)

type tree_t = L7
Empty ///ﬂ\\\
2

| Node of tree_t * int * tree_t 4

(x 203AKRDH *)

3 =
let t0 = Empty
let tl1 = Node (Empty, 3, Empty) //\\
let t2 = tl 7o 7o
let t3 = Node (Empty, 24, Empty)
let t4 = Node (2, 17, t3)



By & Bl
(x BB : RKOPOBHEDEF2IRT *)

) 1
(*x sum_tree : tree_t -> int *) !
let rec sum_tree tree = 0 ///A\\\

7 2
(* TR N %) A
let test0 = sum_tree t0 = 0 % 3 7o
let testl = sum_tree tl = 3
let test2 = sum_tree t2 = 10 //\\
let test3 = sum_tree t3 = 24 7o 7O

let test4d sum_tree t4 51

=



FTL— bk
(x BH : KOBOBHOESHEIRT *)

(x sum_tree : tree_t -> int x)
let rec sum_tree tree match tree with
Empty -> 0
| Node (1, n, r) -> O
(* sum_tree 1 *)
(x sum_tree r *)




FTL— bk
(x BH : KOBOBHOESHEIRT *)

(x sum_tree : tree_t -> int x)
let rec sum_tree tree = match tree with
Empty -> 0
| Node (1, n, r) -> O
(* sum_tree 1 *)
(x sum_tree r *)

m sum_tree 1 IEEDF 1 ODEET
m sum_tree r IIEDF r DHET




AR
(x BBy : KOHFDEHDEETZIRT *)

(x sum_tree : tree_t -> int x)
let rec sum_tree tree = match tree with
Empty -> 0
| Node (1, n, r) -> sum_tree 1
+ n
+ sum_tree r

m sum_tree 1 IEEDF 1 ODEET
m sum_tree r IIEDF r DHET
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29AKT, BEDT—IDWIBEICHEATWDED J

B EOFDT—FIEERELY NI L
B BOFDT—FIEEAELYKREL

AHBNZVZLTWNIE, WHEETT—4ICT7 7t
AT&E 3,

il

tree_t LD 2 D IERADHIC, ZITRoHFEn H
FEI DD EHET 2B search A EEH L, J



F— 5 %%
(x 29AKR%ZERTE *)

type tree_t = 17
Empty ///ﬁ\\\
| Node of tree_t * int * tree_t 7 24

(x 203AKRDH *) /\\ /\

3
let t0 = Empty
let tl = Node (Empty, 3, Empty) //\\

let t2 = Node (Empty, 7, t1) 7o 7o
let t3 = Node (Empty, 24, Empty)
let t4 = Node (t2, 17, t3)

Het



F— 5 %%
(x 29AKR%ZERTE *)

type tree_t = 17
Empty ///ﬁ\\\
| Node of tree_t * int * tree_t 3 24

(x 2DIRBERDAH *) /N\ /\

-
let t0 = Empty
let tl = Node (Empty, 7, Empty) //\\

let t2 = Node (Empty, 3, t1) 7o 7o
let t3 = Node (Empty, 24, Empty)
let t4 = Node (t2, 17, t3)

Het



By & Bl
(* BB : KOHIC m DHEDHIET D *)

(* search : tree_t -> int -> bool *) 17
let rec search tree m = false ///A\\\
3 2
(* TAK %) A
let testO = search t0 0 = false g 7 o
let testl = search t4 17 = true -
let test2 = search t4 7 = true //\\
let test3 = search t4 5 = false 7o 7o

let test4d search t4 20 = false

=



FTL— b
(x BM : AOHIZ n AHBHHET S *)

(x search : tree_t -> int -> bool x)
let rec search tree m = match tree with
Empty -> false
| Node (1, n, r) -> false
(x* search 1 m *)
(x search r m *)

msearch 1 miX 1 ICm AEENTWVWBH
msearchrmidriICm AEENTUVWBH




Aix
(x B8 : KOFIZ n BHZDHUET 2 %

(x search : tree_t -> int -> bool x)
let rec search tree m = match tree with
Empty -> false
| Node (1, n, r) —>
if m < n then search 1 m
else if n < m then search r m
else (* m = n *) true

msearch 1 miX 1 ICm AEENTWVWBH
msearchrmidriICm AEENTUVWBH
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